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1.If selling price is doubled, the profit triples. Find
the profit percent :

(A) 66.6
(B) 100
(C) 105.3
(D) 120
Answer: B
Explanation:

Let C.P. be Rs. x and S.P be Rs. y.
Then, 3( y-x )=( 2y-x )=>y=2x
Profit =Rs.( y—x )=Rs.( 2x-x )=Rs.x.
Profit %=~ x 100 =100%

2.A vendor bought toffees at 6 for a rupee. How
many for a rupee must he sell to gain 20% ?

(A) 3
(B) 4
(C) 5
(D) 6
Answer: C
Explanation:

C.P. of 6 toffees =Re.1

S.P. of 6 toffees =120% of Re.1=Rs.§
For Rs. Z, toffees sold =6.

For Re.1, toffee sold = (6 X g) =5.

3. The ratio between the speeds of two trains is 7:
8. If the second train runs 400 km in 4 hours, then
the speed of the first train is

(A) 70 kms/hr
(B) 75 kms/hr
(C) 84 kms/hr
(D) 87.5 kms/hr

Answer: D
Explanation:

Let the speed of two trains be 7x and 8x km/hr.
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It is given that the second train runs 400 km in 4
hours, therefore, we have:

=>8x=—

=8x=100

100
=Sx=—
8

=>x=12.5

Hence, the speed of the first train is 7x12.5=87.5
kmph.

4.The distance between two places A and B is 570
kms. A train starts from A at 50 kmph at 6 AM and
another starts from B at 80 kmph at 7 AM towards
each other. At what time will they meet?

(A) 10.00 AM
(B) 10.30 AM
(C) 11.00 AM
(D) 11.30 AM
Answer: C
Explanation:

First, we’ll calculate the distance train A covered
before train B started it’s journey.

Distance=speed*time

p=22m x1hr
hr

D= 50km

At this point, the distance between train A and
train B is 570Km—-50Km= 520Km

Next, we’ll use relative speed (R.S) to determine
how long it took for them to meet.

Since the trains are moving in opposite directions,
the R.S is 50+80= 130km/hr.

Time= Distance/speed

520
130

T=4 hours
4 hours from 7 am is simply 7+4=11
They met at 11am.

5. In covering a distance of 30 km. Rajinder takes 2
hours more than Sameer. If Rajinder doubles his

Test Series Module: P a ge | 3 OPSC STUDY [ Contact at: 9348274675 (Telegram/ WhatsApp)]

Visit Our Website: www.opscstudy.com



http://www.opscstudy.com/

OPSC STUDY

speed, then he would take 1 hour less than
Sameer. Rajinder's speed is:

(A) 5kmph
(B) 6 kmph
(C) 7 kmph
(D) 7.5 kmph
Answer: A
Explanation:

Let Rajinder 's speed be x km/hr and Sameer's
speed by y km/hr

Then
30 30
? —; =2 ... (I)
and 22 =1 . (ii)
2x

Adding equation (i) and (ii), we get ? - z—z =3
=303

2x
=2x=10
=x=5 km/hr

Direction (Q. Nos. 16 to 18) : In the questions two
statements follow two conclusions, which of the
conclusion follow the two given statements?

16. Statements : Some actors are singers. All the
singers are dancers:

Conclusions
(a) Some actors are dancers.
(b) No singer is actor.

(A) Only (a) conclusion follows
(B) Only (b) conclusion follows
(C) Either (a) or (b) follows

(D) Neither (a) nor (b) follows

Answer: A
Explanation:
Actors Dancers Singers
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Singers Actors

Only (1) follows
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17. Statements : Some ants are parrots. All the
parrots are apples.

Conclusions
(a) All the apples are parrots.'
(b) Some ants are apples.

(A) Only (a) conclusion follows
(B) Only (b) conclusion follows
(C) Either (a) or (b) follows

(D) Neither (a) nor (b) follows

Answer: B

Explanation:

Parrats Parrats

{or} Apples

Apples

Ants
Ants

Direction (Q. Nos. 38 to 40) : The line diagram
showing the number of students appearing to a
competitive examination from various towns A, B,
C, D, E (in thousands). Study the diagram carefully
and answer the question below.

Students Appearing Competitive Exam

in Different Towns
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C
Different towns

38. What is the ratio of number of Students
appearing for the competitive examination from
town B to that from town A ?

(A) 13:14
(B) 13:15
(C) 16:15
(D) 13:16
Answer:
Explanation:
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Ratio of number of students appearing for the
competitive exam from Town B = 32.5

Ratio of number of students appearing for the
competitive exam from Town A= 40

Required ratio = 73420'5:11000000
=325/400

=13/16

=13:16

... Required ratio is 13: 16

39. What is the average number of students
appearing the competitive examination from all
the town together?

(A) 33.5thousand
(B) 3.35thousand
(C) 17.5 thousand
(D) 35.3 thousand

Answer:
Explanation:

Total number of students appearing the
competitive examination from all the town
together = (40 + 32.5+ 17.5 + 42.5 + 35) = 167.5

Average number of students appearing for the

- R 67.5
competitive examination = % =335

= Required average is 33.5 thousand.

40. The number of students appearing for the
competitive examination from town D is
approximately what percentage of the number of
students appearing for the competitive
examination from town C ?

(approximation to be done nearest integer)

(A) 341%
(B) 243%
(C) 273%
(D) 342%
Answer:
Explanation:

The number of students appearing for the
competitive examination from town D =42.5

The number of students appearing for the
competitive examination from town C=17.5
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Required percentage = (%’2 x 100)

>242.85~243
: Required percentage is 243%

Direction (Q. Nos. 41 to 50) : Read the following
two passages and answer the questions that follow
each passage. Your answers to these questions
should be based on the passages only.

Passage -1

The Shah of Persia had heard of Birbal's
intelligence and he wrote to Emperor Akbar
requesting that Birbal be allowed to visit his Court.
Akbar was pleased because he was extremely
proud of Birbal, and sent him to the Persian court
in all splendor. As soon as Birbal reached the
Persian capital, the Shah sent for him.

When he reached the royal audience chamber, he
saw a semi-circular arrangement of seats. In each
of them was a well-dressed regal figure and all of
them were dressed exactly alike. Anyone of them
could have been the Shah of Persia. Birbal stopped
for a while, then looked keenly, went and bowed
to the real Shah.

Taken aback by this, the Shah of Persia listened to
Birbal's flowery address and replied in the same
flowery language. Then he asked, "Your Majesty !
When | looked round, | found everyone looking at
you. Only you did not look at anyone. | knew at
once who the real Shah of Persia was." The Shah
bestowed upon Birbal the title Ocean of
Intelligence by which men knew him ever after.

(IR 9121 Feene 9F T6Q gagem 1e° 62
QIS ARQAg 50 6AY ARG SIF 6210 AFRHR
RAQIQ AFAG 699Iq FTYSA| KR YT 621NN
RQE 69 AN AR YYD FTG Y6R IL° IF
QA2 SAFIAER VI 6aIFg AOIRYER | TR
dIeQia ARI1EQ A2EQ F116Q FILl Sl SI@ERI

6606967 6Q QAURRIA QIR CI7A6q deBem,
62696967 62 LR 9@ AG-QRAQ QY
6QYER | QTG FIQ J6RUR K64l Y@ JAFD
AR UBQ g6 IL° AFE QAR AR
QQG6m | 6QAANRE C1RIQ 696RE AIQAYQ Sl
62IRCIER | Foem @8 AAL AR ST T6M, FITER
2Ige 6Q¢IREM, IR 9Ye SILlg géIa Qe |
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\2J6Q 2Kl 621 AR GILI FeQRT YV
ACARIS FE6M IQ° ATIR YVTIY AVER RQQR
6Q6R | GI'U6Q 64 ASIRER, " "62 QIR 1 (]
69606Q6% 99E0q 12, ¢ ATAT G
2RISR CAYRI 628R 9671 RITIQ QYRR €]
SIGYR VAR YYE SILl @I" A2l FeeRG
“Ocean of Intelligence” 2GSl 6@@EeM LK
ERIRAEE GIF FISielem)

41. The Shah of Persia invited Birbal because he
wanted to:

(A) Test his immense wisdom
(B) Test his mental alertness
(C) Test his well-known valor
(D) Test his wit and humour

Answer: A
Explanation:

From the first paragraph of the passage, ..
The Shah of Persia had heard of Birbal's
intelligence and he wrote to Emperor Akbar
requesting that Birbal be allowed to visit his Court.
Akbar was pleased because he was extremely
proud of Birbal..

We can imply that being heard of Birbal's
intelligence the shah of Persia was keen to test his
wisdom. Mental alertness, valor and wit and
humor are not related to the context of the given
passage.

42. In each seat sat a well-dressed regal figure. The
phrase a regal figure here suggests

(A) Aroyal person

(B) An ordinary person
(C) A typical person

(D) An eccentric person

Answer: A
Explanation:

Regal figure here suggests a royal person as
it is telling about persons in the royal audience
chamber.

43. Emperor Akbar sent Birbal to Persia in
splendor. The underlined phrase here means:

(A) Inall glory and pomp
(B) In all richness and majesty
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(C) In all majesty and glory
(D) In all humility and grace

Answer: C
Explanation:

The phrase Splendor means in all majesty and
glory.

Pomp - Ceremony and splendif display.

Glory - High renown or honor won by notable
achievements

Richness - The state of existing in or containing
plentiful quantities of something desirable.

Majesty - Impressive stateliness, dignity, or
beauty.

Humility - A modest or low view of one's own
importance; humbleness.

Grace - Simple elegance or refinement of
movement.

Majesty and glory fit perfectly in the given context,
as Akbar was proud of Birbal and he wanted to
show all the majestic (dignity) and glory (Notable
achievement) to the Persian king.
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